*

do / do [pb]

Ratio to LHCB

=
o
>

=
o
w

10?

10

1071

0.5

7000 GeV pp

*

(pn(ll) (pT(e) >20GeV,2<n<5,60< m_< 120)

m LHCB
--H-- Pythia 6.428 391

Z (Drell-Yan)

| | ||||||| | | |||||||
Rivet 3.1.10, = 2.8M events

mcplots.cern.ch [arXiv:1306.3436]

= - <- Pythia 6.428 393 2N =
— --e- Pythia 6.428 394 RN
. -.v-. Pythia 6.428 395 v _
- | | | | | I | | | | | | I | :I
: T T T T T T T T | T T T T T T T T | :I
A ]

| g:.;- S ,_—-EI—._ _ ,E}.\ ‘/< \.\ 1
B ‘&= ~~.:,.__*;.-'._:__:'§; \.\j i
1 1 1 1 1 1 1 1 | 1 1 1 1 1 1 1 1 | 1

107t 1 \

N

0.5



	Contents
	Page 1


